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A R, = —AB — BC c0s30° = —200 — 300 cos30° = —459.8 km
R, = 0+ BC sin30° = 300 sin 30° = 150 km
C " R=-459.87+ 150 km
o - IR| = /sz +R,* =./(—459.8)% + (150)2 = 483.65 km
s B - R 150
A _ -1(_Y) = -1 - _ o
0 = tan (Rx) tan (—459.8) 18.07
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0 =180°—-18.07°=161.93°
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(a) Using graphical methods, place the tail of y
vector B at the head of vector A. The new = 3
vector A + B has a magnitude of

6.1 at 112° | from the x-axis. A

() The vector difference A-B is found by
placing the negative of vector B at the . e i
head of vector A. The resultant vector

A - B has magnitude units at an FIG. P3.10

angle of 22° | from the + x-axis.

A—B




A

(20249) 2 Aolc cljud Wleolel) anlell cljusll

P

v

z
T
"1
FE, = F;c0530°+ 0 = 6 c0s30°=5.19N
F, = F; sin30° = 5=6sin30°-5=-2N
F=5197—2j N
IFl = |[F2+F? =(5.19)2+ (-2)2 =5.56 N
0 =tan! (E> =tan~! (_—) = -21.07°
F, 5.19 '
aclud! olic go lpadlail ailg il Ul (suei adld! 3,LVI
w=galliX 9o o a9l clwwx) &I &)l (59 847 dlazally
0 =360°—-21.07°=338.93°
it will be done inthe class  (16)
(29)
(a) See figure to the right.

(b)

C=A+B=2.00i+6.00j+3.00i - 2.00j = | 5.00i +4.00j

C=+250+160 at mn“(§)= 6.40 at 38.7°
b

D = A - B= 2.00i +6.00j - 3.00i + 2.00j = | ~1.00i + 8.00j

D = J(-1.00)* +(8.00)* at tan“’(%)

D = 8.06 at (180°-82.9°) =| 8.06 at 97.2°

FIG. P3.27




(20249) 2 Aolc cljud Wleolel) anlell cljusll

i ) . . (20)
A=-870i+15.0j and B=13.2i - 6.60j
A—B+43C=0:
3C=B-A=219i-216j
C =7.30i-7.20j
or
C,=|730em [ C, =|-7.20cm
(25)
A.B = ABCos8 = 5x9Co0s50 = 28.93 units
a8 Lagds Ay gl 3 ils 1) laalatia Glgadall @) pau (27)
A.B =ABCos8 = ABCos90 =10
AB=(2i—yj+4k).(2i - 2j+2K) =0
(2i—yj+4k).(2i-2j+2K)=4+2y +8=0
y=-6
(28)

A.B = ABCos#
A=12i+10j ,B=Ti+8j
A.B = (12i + 10j ).(7i + 8j) = 84 + 80 = 164
4| = J(IZE)Z + (105)* = 15.62
|B| =/(7i)* + (8f)? = 10.63
AB 164
= 0.99

AB ~ 15.62x10.63
8 =Cos~10.99 = 8.1°

= Cosf =




